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Desktop RStudio

install.packages(’exams”, dependencies = TRUE) |
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tinytex::install_tinytex() J

Console  Terminal Jobs

C:/Users/faisa/OneDrive - Tafi University/Teaching/Numerical/Question Bank/Rexams/N
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http: //www.r-exams.org/tutorials/installation/ J
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22 Deriv b hmd
o St~ %~
A Kot - % Delete Y Rename | % More -
what is the derivative of $f() = eA{5x}$? Size Modified
AnswerTist
- 9928 Oct 8, 2020, 1:54 PM
eA{5x 6418 t 8, 2020, 1:50 PM
5 eA(5x}S
SASSIEXTS ’ 648 0 1:56 PM

s S1e &g 5 quC 2 halt
1t has no derivative Ay 4, 838l Terminal % | Jobs
Py C/Usersfasa/OneDrive - Tafl Univrsity/DropbosTraining/R xams/Eramples/ =

AnswerTist
= False. You should derive the exponent.

. The derivative of the exponent is S5 not $10S.

of the exponent is $55 not $-55.
* False. The derivative of the exponent is $55 not $\frac{1}{5}
eA{5x}s

el ) 2,815 538

* False. Its derivative
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exsolution: 010000
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in{question}
i L. what is the derivative of
What is the value of the derivative of $£(x) = XA {al} eA{\sexpr{b}x}$,
$$F(x) = xA{'r a’} eA{’rb x}§§
at $x = r c'§?

evaluated at $x = {c}§?
d{question}

Rmd I culale Rnw JI <k,
{question}

What is the value of the derivative of
§5F(x) = eA{5x}$$

Question
what is the value of the derivative of
$$F(x) = er{5x}$$

at $x = 4%7 at $x = 4§?
1{question}
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Question .
what is the derivative of $f(x) = eA{5x}$? .
Answerlist

$er{5x}$

$5 eA{5x}$ a et
$10 eA{5x}$ SAPINER PV
$-5 eA{5x}$

$\frac{eA{5x}}{5}%

It has no derivative

Solution

s jall 13a
Answerlist o ]
(S 5.5 ks
should derive the exponent. dl; é aaladig
derivative of the exponent is $5% not $10%. C‘JJE‘ gf EJJ‘
. The derivative of the exponent is $5% not $-5%. i "J Hiein

. The derivative of the exponent is $5% not $\frac{l}{5}$.
. Its derivative is $5 eA{5x}$ il

sk % b ok

Meta-information

exname: Deriv_Exp
extype: schoice
exsolution: 010000
exshuffle: 4
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exams2pdf('Deriv_Exp.Rmd") J

L Proble@ L S0 1. Problem

What is the derivative of f(x) = > What is the derivative of f(x) = €>?
(a) —5eb® (a) e°*
(b) &> (b) It has no derivative
(c) It has no derivative (c) ()
(d) 5e>* (d) 5e>

Solution Solution
(a) False. The derivative of the exponent is 5 not —5. (a) False. You should derive the exponent.
(b) False. You should derive the exponent. (b) False. Its derivative is 5e>*
(c) False. Its derivative is 5¢°® (¢) False. The derivative of the exponent is 5 not %
(d) True. (d) True.
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adding: imsmanifest.xml (deflated 48%)

adding: res00001.dat (deflated 88%)

adding: ../ (stored 0%)

adding: ../blackboard/ (stored 0%)

adding: ../blackboard/.bb-package-info (stored 0%)
adding: ../blackboard/imsmanifest.xml (deflated 48%)
adding: ../blackboard/res00001.dat (deflated 88%)
adding: ../blackboard/res00002.dat (deflated 80%)
adding: .bb-package-info (stored 0%)

adding: res00002.dat (deflated 80%)
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Details: Multiple Choice Question

Question  what is the derivative of f(x) = e5%?

Answer 5%
a. 5

b. ~5¢5%

9 ¢ 505%

d. 10e5%
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Question

direction: rtl;

}
p{

direction: rtl;
}

</style>

LN, WNE

A1l iaiae .als $F(X) = eA{5x}S¢

Answerlist

$er{5x}S
$5 eA{5x}$
$10 eA{5x}$
$-5 eA{5x}$
* $\frac{eA{5x}}{5}3%

Solution

$5er{5x}$

NN NN

Meta-informati
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exsolution: 01000
exshuffle: 4

POWGoNOW&H W

wwNN N

dgyall dalll e



£
daxie (o sl dl dliwl

2390 (0 i U 0655 aimy (s JIgus (5305 iaylo JUI JUiall s @

Let Al,laalt d1p0ll damwle 3uies5 Lallill gaall go sl

Answerlist

oLl
Alaall
g
s
o5

solution

Answerlist
Looemall Lisyell iSlaall dasle ployll .aaxs.
Lioyxldl yae Ao)sear dawle spelall .aaxs.
51x3all iSlaall dasle giil . las
> Y dawle Gua ) Iy sa5 - Las.
Luiyd danle goyls .zaxs.
ololall dawle 51€5h .- Llhs.
orall dawls gaSs . Lhs.

Meta-information

: capitals

exsolution: 1100100
exshuffl




Question  Lal dhldnll dlgall donle pioi dlill gaall go i

Answer

Correct

Feedback

daio (o sl

ot Jaxi Blackboard 1l duaie | ilall 8y sic ©

a. (Quldl) iy

b. (Luuipa) guugly

0

. (8aainll dAlooll) oljgigy

e

(daagewll) yalyll

I

- (puall) gisgh

(o) (s
Ol donle giagh .ha,
(Luiyd) galy

N

Lwija danle b .ann.

w

(8aniall dalooll) eljgigui

dlgs sV donle cuyl djgigli lha.

E

(d1rgeull) Al

dyagull dyyell dSlooll donle Al a0,

wn

(gunll) gragh
Junll donle quas ha,




o Dynamic Exercises dxdelat] dliwdl e (alaill (o o §od dojdl «A)_o_: °

J.\g.‘x_\ sLu| LQA-LQ_}.LS.L_\ 6"” 4.u|9.r.u_9.” x_\l).;.v_,.dl o degaxo 692_) 6"” <LLu.uY| u.m
Ay 38l ds ) Jlgadl

] Baasie gt 53sS5 e g3308 & i Silusall o poill 1 Jio deanl (2S5 @
LY el doniall Aliae¥l 65 rasdy Lay Jlguadl

o7 JIgaull 39S 28Laly @aluall Jlgual e sliy Selas Jlgan (2085 xSy Miad ©
.sample &llJ] elmb Lot a3 Say Gl Elloaall clypiall o dcgazne

eyl e'M!M g

. |
Sosll Btad . Jlguadl S5y lgatiall ysiiall alasiun] dic

v |

<
£ ' & 2 e * e l . l .
Slodic yis @ yoiall Ol sy




=

o LS lelad Jlgw dI galeadl Jlgudl dagd 9Say @

"""{r data generation, echo

a <- sample(3:12, 1) N

b <- sample(2:10, 1)

e \

Questi

<style> ‘)AS!\ 6)57"
hi {
direction: rtl;
3
pi a <- sample(3:12, 1)

L
direction: rtl;

VNGOV HWN R

}
</style>
Agal disiae oale $STCX) = r a’ er{’r b’ x3$¢ a JM\ L—‘:.’J’j:’

AnswerTist ‘;‘1\‘}&(‘— M
SeA{’r b~ x3}$ 5 A = 2o
$r a*b” eA{r b x}$ LJY‘ LuiL;\j Dh‘} ww JALJ
$'ra erMrb x3i$ .
Srberlr b x3$ el Laadia) A2 53 o

Solution . r a‘

er{’r b~ x3$ ‘;‘l\}m{; )3’:“ a L.JSI \ /

Meta-informati

Dynamic_Deriv_EXp_Ar
extype: schoice ¢ — G . » .
exsolution: 01000 ‘a = b il \3‘\ [SIREN lale

exshuffle: 4
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Of (@) = 3eB Wl asiae sols 1 Sf() = 4™ Wl danss alo .1
(a) ¥ (a) 4e™
b) 2487 (b) 28¢™
(b)
(c) 8e* (e) £
(d) 3¢5 (d) 7e™
Solution Solution
2468 28e™
(z) = 6> Al dinie Lole .1
S ) of(z) = 8 Wl dgnts Lolo .1
(a) 48e (a) 40e>® i
(b) e . (b) 55
( ) 6'08 (C) Pﬁm
(d) 8¢ (d) 865
28061;{510“ Solution

40e5®
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" {r data generation, echo = FALSE, results =
"hide"} o 24
a <- sample(3:12, 1)

b <- sample(13:100, 1)

r data generation, ec FALSE, results =
"hide"} £
a <- sample(3:12, 1)

v

b <- sample(a+l:a+10, 1)
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<style>
h1l {
direction: rtl;
}
p{
direction: rtl;
}
</style>

D all Lands Legs oale $F(X) = \cos(\pi x)$ wie $x = 0.53¢

solution Jis 3w ) extype Jipull ¢ 53 s o5 -1
num e Slla)
aif Laay  Jall dad Clusl R 4al aladiu) &322

Ul o8 sl odgy fmt Alal) alasin)
extype :Cnum A e )14
exsolution: |'r fmt(-pi*sin(0.5*pi),4)" Jialedl oy il extol Adla aladin) (K -3

extol: 0.01 wrz i

R

. Sz = 0.5 5c f(2) = cos(mr) Al dbide iad Lolo .1
Solution -

-3.1416
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"""{r data generation, echo = FALSE, results = "hide"}
a <- sample(2:6, 1)
b <- sample(1:6, 1)
dgt<- sample(1:4,1)

sol <- a * bA{a-1}

err <- c(a, bA{a-1}, a*bA{a}) SOI:
: , | 4o
rng <- c(-sol, 2*sol) dﬁj ;
sc <-|num_to_schoice/(sol, wrong = err, range g, o @ ik - -
delta = 10A{-1}, method elta”, digits = dgt) PO (P EIARN Q\J\A}” UAR-U 408
qQuestio rng:
;st¥1e> Q\)\,ﬁ;m ‘_)SAAS‘ LS"‘J‘
1 7
direction: rtl; SC:
3 - Gy G
pL IR Ao sana (g 5Sy a 585 Al
direction: rtl; : e
} 4e
</style>
$F(X) = xA{'r a’}$ uie $x = 'r b'$¢ )l ?\ <. \émihy
echo = FALSE, results num_to_sch°|ce

ns, markup arkdow

Lnaall UYL AalE ey

solution

“r fmt(sol,dgt)

Meta-informati

extype: schoice ‘_A! daj\ d,-.‘jéﬂ

exsolution: 'r mchoice2string(sc$solutions)” 4 e
exshuffle: 4 o =
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Solution
12.0

bygully oo 9 LaS il Sle Junmnins Galudl 2980 3pdid sic @
s =2 f(z) = 27 Ul daido 108 polo .1 1 = Buie f(a) = 20 Ul dhidio dagd polo T

(a) 1458.000

(b) 4374.000

(c) 6.000

(d) 785.000

Solution
1458.000
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age{polyglossia}
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U 1. & Random Block

Total Questions:

Number of Questions 1

to display:
Source Pool: Deriv_Exp_Ar
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Total Questions:

Number of Questions | 1
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Exam 1
1. Question
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a. 5e%

exams2htmi(‘Deriv_Exp_Ar.Rmd) - b. 10e5*

e
c. =
5
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ajaddly polidl aandl il e W3eSyd o 5381 oaadll Sgize e 355 @

clylaall o 581 o dasll lgsdd doiod] aydgs &l dliadl (o Solaswdl Jol> @
" oo isluly

>a¥l alasxialy RStudio gralisy lasd i 830 JS dajoxdl clesianly podi ol 5S35 @

library(exams) J

Crl+] jlaisYl ansil olo¥l 3ot Al ilygine prual ©

ool Gy Aol 0dn § g llasdl Gagy § 1S5 3929 Ll ramg a8 @
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alls plasiunl Juady . Blackboard JI e Lgdy) &yl sl dliw HUS aic ©
C_o.m.m.ll Se il (alseswy exams2html

2655 § 39S indy 08 Lidlsdec llaYl adsi num_to_schoice &l alusxiwl sic ®
Ulay e Juam 48 ladic g - Sladie IS0 @lysiall lis] e bl dails
" i Uasdl

Jasmdll yol dpais ol lld @3
3 Calay] Say po¥l dudis g 3L J) Jlsaed! S5 duomoyall slasYl 5355 53 @
solodll dislis § STOP digiyl Ll dnsually

Console  Terminal Jobs

C:/Users/faisa/OneDrive - Tafi University/Dropbox/Training/R Exams/Examples/ #*

Jasill yol deais acl U3 g3

sl sliad]


num_to_schoice

il JSis e geilid] iy ymi 2(1) Jlo

" {r data generation, echo = FALSE, results = "hide“}| E - T 4
a <- sample(1l:5, 1)

b <- sample(a+1:9, 1)

x1l <- a+(b-a)/2

digits <- sample(3:5, 1)

func <- function(x) {
result <- xA2*cos(x)
eturn(result)

}

;9] <= (b-a) * (func(a)+4*func(xl)+func(b))/6

Question

direction: rtl;

p {

direction: rtl;
1
</style>

Jol€a 1l da3d olwxl 1/3 gsmiow d3)b alimiwl 1ic

$$ \displaystyle \int_{ r a }A{ r b '} xA2 \cos(x) \; dx §$$%

31 dosiito dliol
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Answerlist

fmt(sol,digits)’

fmt((b+a) * (func(a)+4*func(x1)+func(b))/6,digits)’
fmt(3*(b-a) * (func(a)+4*func(x1)+func(b))/8,digits)’
fmt((b-a) * (func(a)+4*func(x1)+func(b))/3,digits)’

‘r fmt(sol,digits)’
T
Meta-information

exname: Simp3_Func_x_CosX
extype: schoice
exsolution: 1000
exshuffle: 4

s
dondio dlio|

2l :(1) Jlio




ZSWIPDF 1l cals (1) Jlo

JolSall desd sl 1/3 Ogustans ddgsho plasniao] aie .1

7
/ 22 cos(x) dx
1
obed e ol 4 J) s JolSall 0580 20l 015
(a) -5.8022
(b) -8.7034
(c) -9.7913

(d) -4.3517

Solution

—4.3517

/ ol s sl 1/3 Opnsans 8o o] aie x

6
/ 22 cos(z) dx
Ja

(Soluass Lyt pla 3 I 3o JolSall dgey a7l daghll 13

(a) 17.491
(b) 39.356
(c) 34.983
(d) 87.457

Solution

17.491 /




Jolas L) :(2) Jlio

St Laed bl a8 5 @iy Jolaz 09985 &S Sle JUiall 3 § Sy @
Slodic

"{r data generation, echo = FALSE, results = "hide"}
digits <- sample(3:6, 1)
a <- sample(1l:5, 1)
h <- round(sample(1:10, 1)/10,2)

<- a
a+h
a+2*h
a+
at+4*h
a+5*h

fx<- c(sample(3:6, 1),sample(7:15, 1),sample(20:35, 1),sample(40:55, 1),sample(60:85, 1))

591 <- (Fx[4]-fx[3])/(x3-xu)

direction: rtl;

i

':’ éirect'ion: Gl HTML ai-‘ e\. i }-.' d}‘lé'“ L.):.'}Sj ?j
i/sty'le>
AU Jyaxdl 5 alhxall oLsliadl a5l

div align="center">

|Sx$&nbsp &nbsp;&nbsp;&nbsp; |$ r xO‘S&nbsp &nbsp;&nbsp;&nbsp;| $'r xl‘S&nbsp &nbsp;&nbsp; &bsp; [$
u $&nbsp;&nbsp;&bsp;&nbsp; |$ r x3 S&nbsp; &nbsp &nbsp; hsp | $'r x4 $&nbsp;&nbsp; nbsp &nbsp; |

15 all5 2lle all= allz allg

|$f(x)$&nbsp &nbsp; &nbsp;&nbsp; |$ r fx[1] $&nbsp;&nbsp; &nbsp &nbsp; |8 r fx[2]° $&nbsp &nbsp; &nbsp;&nbsp; |$
x[3] $&nbsp;&nbsp;&nbsp;&nbsp; |$ r fx[4] $&nbsp;&nbsp;&nbsp;&nbsp;|$ r fx[5] $&nbsp;&nbsp;&nbsp;&nbsp; |
</div>

3 syl daaaill ol SFTCE xu)$ € dacaas




Answerlist

fmt(sol,digits)’
fmt(sol+2,digits)’

fmt(2*sol+1,digits)’
fmt(3*sol+1,digits)’

solution

‘r fmt(sol,
$$

Meta-information

exname: Table
extype: schoice
exsolution: 1000
exshuffle: 4




=W (2) Jle

Jl dnial 424y g exams2blackboard &l e|.\:‘>a;m£.g sl g sic @
se Juaswiws Blackboard

Question @Il Jgaall ga élaeall alilull pic|

x 2 26 3.2 3.8 4.4
fl) = 14 21 41 82

S didoall dgololl Ggpall ddyyh plxiiwl £(3.2) J dyydill dogdll galo

IAnswer a.35.333333
b. 101
C. 67.666667

% d.33.333333

Question oLl Jgaall (o4 blheall alilyll wic|

x 5 58 66 74 82
f9 5 11 33 50 76

§ didooll dolo¥l Ggpall dduph plaiiwl £16.6) 1 duydill doydll galo

JAnswer a.23.25

% b.21.25

C. 6475

d. 435




LT sloguayll sLi] :(3) Jlio

O degan L,LC sl LAJLQJJ hJLLL?ELAJ'f&LQ) LS L,Lc Jladl 13 Lg Oyl @
A Slediall cilysrall

""{r data generation, echo = FALSE, results = "hide"}
p <- c(sample(l:3, 1), sample(l:5, 1))
q <- c(sample(4:5, 1), sample(1l:5, 1))
sol <- sqrt(sum((p - q)A2))

Question

<style>
hl {

direction: rtl;
}

p {
direction: rtl;
1

</style>

BBl s islaatl _als $83 5 $BS Tulisl pesil s u—“ Jly dial) fuﬂ)]

" "{r distplot, echo = FALSE, results = "hide", fig.path = "", fig.cap = ""¥¢ ¥
par(mar = c(4, 4, 1, 1))
plot(0, type = "n", x1im = c(0, 6), ylim = c(0, 6), xlab = "x", ylab = "y")
grid(col = "slategray™)
points(rbind(p, q), pch 19)
text(rbind(p, q), c("p", "q"), pos = c(2, 4))
Tines(rbind(p, q))
Tines(c(p[1]l, p[1], q[11), c(p[2], q[2], q[2]), 1ty




solution

t{(p_1 - q_1)A2 + (p_2 - q_2)A2} =
t{Cr pl1]” - r q11)A2 + Cr p[2]" - "r q[2] )A2}
‘r round(sol, digits = 3) §.

Meta-information

extype

exsolution: "r round(sol, digits = 3)°
exname: Euclidean distance

extol: 0.01
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sk Juwaiw Blackboard

Question solial aull @d @ g-p guihdill gy daluall galo

© -
o -
< -
> o o
~
o H
T T T T T T T
0 1 2 3 - 5 6
Answer
Answer 2.828
Answer 0.01
range +/-
Correct d= J(m -q )2+(p2 ,qz)2 o \/(3, 5)2+(4-2)2 = 2.828
Feedback

Incorrect d= J(p1 -0ty —qy)? = J(S -52+(@-2)°=2828
Feedback




=W (3) Jle

o] I e Juood Jlgaadl no @i (po 3281 dulgi Lyl oSy g @

Question <olial pupl o4 q gp guibdill gu dalwoll galo

©o -
o
<~ - epe
i
I
> o - £ | R, q
~
- -
o - H
T T T T T T T
0 1] 2 3 4 5 6
IAnswer
IAnswer 1.414
IAnswer 0.01
range +/-
Correct «d:J(m *qw)z‘f(Pz*qz)Z:J(374)Z+(473)2:1.414
Feedback

Incorfect -d:J(m*q1)2+(p2*q2)2:J(374)Z+(473)2:1.414
Feedback
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https: //cran.r—project.org/web/packages/exams /vignettes /exams. pdf J
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http: //www.r-exams.org/tutorials/ J

Lyl U35 (3 rpBoally Brdsiall prpdotll dltedl Sle g3yl @

http://www.r-exams.org/templates/ J
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http://www.r-exams.org/resources/ J
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https://github.com/falmalki/Rexams_Tutorial/ J
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